
Chapter 25 Physics Test
Name _____________________________


Choose the correct answer and then darken in the appropriate letter on the scantron sheet. Some questions may have more than one answer. Points will be awarded for each correct answer. 
1.
The number of crests passing a given point in a given amount of time is the wave's (a) amplitude  (b) frequency


(c) period   (d) speed   (e) wavelength.

2.
The time required for one cycle is the (a) amplitude   (b) frequency   (c) period   (d) speed   (e) wavelength.

3.
The reciprocal of the period of a wave is the wave's (a) amplitude   (b) frequency   (c) period   (d) speed


(e) wavelength.

4.
The wave's frequency times its wavelength is the wave's (a) amplitude   (b) frequency   (c) period   (d) speed



(e) wavelength.

5.
The displacement. of the particles in a medium is at right angles to the direction of motion in (a) transverse waves


(b) longitudinal waves   (c) both transverse & longitudinal waves   (d) neither transverse or longitudinal waves.

6.
The displacement of particles in a medium is parallel to the direction of motion in (a) transverse waves


(b) longitudinal waves (c) both transverse & longitudinal waves (d) neither transverse or longitudinal waves.

7.
When two or more waves act simultaneously on the same particles, it is called (a) reflection   (b) refraction


(c) diffraction    (d) interference.

8.
When waves bend as they hit a barrier, it is called (a) reflection  (b) refraction  (c) diffraction  (d) interference.

9.
When waves bend as they pass the edge of a barrier or pass through a small opening, it is called (a) reflection


(b) refraction   (c) diffraction   (d) interference.

10.
When waves change direction when going from one medium to another, it is called (a) reflection  (b) refraction


(c) diffraction   (d) interference.

11.
The direction of propagation of a wave (a) is parallel to the wave front   (b) is perpendicular to the wave front


(c) could be parallel or perpendicular depending on the wave front   (d) varies and is determined for each medium.

12.
An incident wave makes an angle of 40o with a barrier.  The reflected wave will make an angle to the barrier of


(a) less than 40o   (b) more than 40o (c) 40o   (d) 20o.

13.
When a wave passes into a new medium, which of the following remains constant? (a) wavelength


(b) frequency   (c) speed   (d) all of the previous   (e) none of the previous.

14.
To obtain waves of a longer wavelength in a given depth of water, the frequency of the waves would have to be


(a) increased    (b) decreased   (c) unchanged (d) doubled.

15.
An ocean wave has a wavelength of 10 meters.  A wave passes by every 2.0 seconds.  The speed of the wave is


(a) 5 m/sec  (b) 10 m/sec   (c) 20 m/sec   (d) 40 m/sec.

It takes one-half second to create the wave pattern at the right.
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16. The frequency of the wave is   (a) 0 Hz   (b) 1 Hz   
(c) 3 Hz 


 (d) 6 Hz   (e) 12 Hz

17.
The amplitude of the wave is (a) TU   (b) TV   (c) TX   (d) HI   (e) HU.

18.
The wavelength of the wave is equal to the length of segment 
(a) HU + WI   (b) TZ   (c) HU   (d) TX   (e) TV.

19.
The period of the wave is (a) 1 sec   (b) 3 sec   (c) 6 sec   
(d) 1/3 sec   (e) 1/6 sec.

20.
If the wavelength is 6 cm, then the speed of the wave is   
(a) 1 cm/sec   (b) 3 cm/sec   (c) 6 cm/sec


(d) 12 cm/sec   
(e) 18 cm/sec.

21.
The letter on the wave located at a crest is (a) H   (b) V   (c) I   (d) X    (e) J

22.
The letter on the wave located at a trough is (a) H   (b) V   (c) I   (d) X    (e) J

------------------------------------------------------------------------------------------------------------------------------------

At the right are drawings of ripple tank observations and
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E. none of the above




possible answer combinations.  Darken the letter of the

observation which best match each of the following.

23.
The reflection of waves.

24.
The refraction of waves.

25.
The diffraction of waves.

26.
The interference of waves.

27.
The change in speed of waves.

28. The change in frequency of waves.

------------------------------------------------------------------------------------------------------------------------------------

[image: image4.wmf]The wave at the right is sent along a slinky which is connected to a spring.

29. The shape of that part of the wave which passes into the spring.

30. The shape of that part in the spring after it has reflected from the held end.

31. The shape of that part of the reflected wave as seen in the slinky.

------------------------------------------------------------------------------------------------------------------------------------
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A two source interference pattern is shown A at the right.

32.
Line A is a (a) node   (b) antinode   (c) neither

33.
Line B is a (a) node   (b) antinode   (c) neither

34.
The line perpendicular to the line between the sources


at the midpoint is a (a) node   (b) antinode   (c) neither.

B.
You were shown a laser beam that carried sound across the room.


1.
Describe what took place in the laser.  (3)


2.
Describe what took place in the telephone pickup with speaker in it.  (3)


3.
Describe what traveled from the laser to the solar cell. (3)

C.
You saw your instructor obtain various sounds by stroking an aluminum rod.


a.
What measurements were made? (3)


b.
What calculations did we make?  (3)


c.
What conclusion(s) did we make from the data collected and the calculations made?  (3)

D.
In working with the slinky and ripple tank, what were two unique things that you observed that were totally new to you. (4)

__

22

E.
Your instructor will show you a demonstration. Sketch what you see and then discuss as much of tahe physics associated with what is shown.  
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